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Translate words into algebraic expressions and equations
algebraic expression

variable + nuwtas X, W@, a,b, n S £ A
numerical expression N tren

factor niwmbers +o muox

peduct = MmuweX

quotient = 2ivisian

sum GiF

difference - +3 -
equation Xt$ XT38 Splued
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activity (if time?) | have, who has
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Multiplication Division

minus times divided by
the sum of the difference of the product of | the quotient of
increased by decreased by multiplied by the_ratio of
more than less than -
added to fewer than
the total of subtracted from
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Al
3 Write an algebraic expression f(:%each verbdl expression. __6_:9_L: SO ey
l SR

the sum of m and 18 .

9 g divided by y ’ O

1§ 3:—5[ _Lg?r— v

_Some kangaroos can travel 30 feet in a single leap.

e) Write a numerical expression to 0 Write an algebraic expression to
represent the distance a kangaroo represent the distance a kangaroo
can travel if it leaps 4 times. can travel if it leaps x times.

30 - 4 or 30(4) 30 - x or 30x
'_'-

\,@;i 30(Yv) 30x 30X
(30 )) %30 X34
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Write a yérbal expression for each algebraic expression. -&k@@ﬁ
g 32—:::!( 0(';+4)+:_ (= e rmA
The fferarce o~
22 o3 b Th qustaa of @ a-s T
| Ntase l'a-O ;

c. 150 dr—= 5_ 4



£quals is equal to W \{/(,I
is is the same as

is equivalent | is as much as
to is identical to g 7 v Y
\.—-_—__—__/

a Write an equation for each sentence.

Three times g equals 21. 0 Five more than twice  is 15.
39 <ol S+ AN =1%
| Your Turn _

e. A number k divided by 4 is equal to 18. = | 8

ke =18 i

—



Write a sentence for each equation.

equals is equal to
x—2=14 Q 7y+6=34 is is the same as

is equivalent | is as much as
to is identical to




